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Directions (Questions no. 1 to 5) : Read
the given passage carefully and answer the

questions that follow :

In July 1921, Tagore returned home
from Europe. He was alarmed to find that
many members of the staff at Santiniketan
had the
non-co-operation movement, thus giving

themselves up to ‘narrow nationalist ideas

enthusiastically  embraced

that were already out of date’. In the first
week of September, Gandhi met Tagore at
his family home in Calcutta. They had a
long and argumentative conversation about
non-co-operation. C. F. Andrews, who was
present, wrote that they had ‘a difference of
temperament so wide that it was extremely
difficult to arrive at a common intellectual
though the
friendship remained entirely unbroken....
Tagore later recalled that he had told
Gandhi that ‘the whole world is suffering

standing, moral ties of

today from the cult of a selfish and
short-sighted nationalism. India has all
down her history offered hospitality to the
invader of whatever nation, creed or colour.
I have come to believe that, as Indians, we
not only have much to learn from the West
but that we also have something to
contribute. We dare not therefore shut the
West out. But we still have to learn among
through education, to

ourselves how,

collaborate and achieve a common

Gandhi’s answer is not recorded. But
apparently Tagore was not satisfied, since
he chose to make his criticisms public in the
influential Calcutta journal Modern Review.
In his recent travels in the West, said
Tagore, he had met many people who sought
‘to achieve the unity of man, by destroying
He had

‘watched the faces of European students all

the bondage of nationalism’.

aglow with the hope of a united mankind...’.
Then he returned home, to be confronted
with a political movement suffused with
negativity. Are ‘we alone to be content with
telling the beads of negation’, asked Tagore,
‘harping on other’s faults and proceeding
with the erection of Swaraj on a foundation

of quarrelsomeness?’

Gandhi

defending the non-co-operation movement

responded immediately,
as ‘a refusal to co-operate with the English
administrators on their own terms. We say
to them, “Come and co-operate with us on
our terms, and it will be well for us, for you
and the world”. ... A drowning man cannot
save others. In order to be fit to save others,
we must try to save ourselves. Indian
nationalism is not exclusive, nor aggressive,
nor destructive. It is health-giving, religious
and therefore humanitarian. India must
learn to live before she can aspire to die for
humanity. The mice which helplessly find

themselves between the cat’s teeth acquire

na maoarit fram thair anfarrad cacrifica’
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What did Tagore initially make of the | 3.  According ahatma Gan

non-co-operation movement ? which adjective was not a sultable

(a) The movement was based on characteristic of Indian nationalism ?

refreshing ideas that ought to be (a) Inclusive
embraced. (b) Humanitarian
(b) The movement didn’t deserve a (¢) Religious

thought or contemplation. _
(d) Aggressive

(¢c) The movement was guilty of
accepting an outdated ideology of

narrow nationalism.
4. “The mice which helplessly find

(d) The movement convinced him themselves between the cat’s teeth

about failure of Gandhi as a mass . . .
acquire no merit from their enforced

1 . . .
cader sacrifice.” What can be inferred from
this statement ?
(a) Brave men are, in truth, cowards.
2.  Which of the following statements is (b) Weak people deserve no praise for

true according to the passage ? .
not fighting back.

(a) Tagore considered the movement

as a setback to the promising (c) A small animal is eaten by the

signs for humanity he saw in large animal.

Europe. (d) India can easily dominate

(b) Gandhi and Tagore couldn’t Europe.
argue with each other as a sign of

respect for the other.
(¢) After meeting Gandhi, Tagore 5. When and where did Tagore meet
was convinced of the virtues and Gandhi after returning from Europe ?

potential of the non-co-operation (a) Madras, October 1921

movement.
(b) Delhi, July 1921

(d) Gandhiji refused to respond after

Tagore went public with his () Calcutta, July 1921

eritinne of the mavement (AN Malentta Qontomhor 1091
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the given passage carefully and based on the
paragraph answer the questions that follow :

The India-China relationship has
always been too complex to classify under a
single Competition-cooperation-
discord is an often-evoked term typology
that reflects the contradictory nature of this
relationship. Last year witnessed all these
facets play out: India’s trenchant critique of
the Belt and Road Initiative (BRI), India’s
entry the Shanghai Cooperation
Organisation, the dramatic crisis in Doklam
on the northern frontiers, the acceleration of
multilateral cooperation in the BRICS
format, and attempts to foster economic
engagement. Yet, nothing exemplified the
state of ties more than the Himalayan
standoff, which was the closest both
countries came to drawing blood in over
three decades.

theme.

into

What led to this tailspin in India-China
relations ? We will not find the clues in
some valley or a narrow stretch of road in
the upper Himalayas. Rather, the main
reason has been a systematic build-up of
negative images of how each side viewed the
other’s foreign policies, along with a collapse
in geopolitical trust. For India, China’s
attempt to raise its economic and political
profile in the subcontinent was seen as an
encroachment on, and an affront to, Indian
authority in the neighbourhood. For China,
India’s  pursuit of deeper
engagement with the former’s
strategic rivals — the U.S. and Japan — was
viewed as a serious challenge to its future
security. Convinced that only an assertive
policy would work, both Delhi and Beijing

military
main

over the past two years began exploiting

AR MRS RXAMPRLIAFOMAINLES,
the U.S., China towards Pakistan, and on a

scale not witnessed even during the Cold
War years.

Yet, neither side has been able to
extract any concessions or improve the
terms of their bilateral interactions. On a
range of issues — the Nuclear Suppliers
Group membership, Pakistan-sponsored
terror and hydrological cooperation being
the most prominent — India failed to receive
any give from China. With India’s boycott of
the BRI, China too found itself confronting
not only the only major holdout against its
flagship international initiative but also its
most  suspicious and non-cooperative
neighbour in Asia. Beijing also noticed that
New Delhi was beginning to openly involve
external powers to collaborate with it in an
anti-China strategy in South Asia and the
Indian Ocean. Worse still must have been
the spectacle of India brandishing its Tibet
card. Such unbridled competition and rising
costs to Indian and Chinese interests — and
Doklam was the tipping point — appears to
have persuaded both Prime Minister
Narendra Modi and Chinese President
Xi Jinping that their were
producing zero-sum outcomes and required
some kind of a course correction.

6.

policies

Which of the following is not a factor

in increasing China’s doubts about

India ?

(a) India has used the case of Tibet
as a weapon to confront China.

(b)

India has closed bilateral trade

with China.

(¢) India has been involved in
forming coalition against Chinese
domination.

(AN ) P L | PR 44~ 4 41 A D14 PRGN |
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emerging Indo-China relationship ?

(a) India and China have been
willing to give each other the

upper-hand.
(b)

China has a positive image of
India’s foreign policy.

India’s boycott of BRI affected
China.

India’s response has been cordial
with regard to the Himalayan
standoff.

(c)

(d)

Which countries are China’s main
strategic rivals ?

(a)
(b)
(c)
(d)

India and Pakistan
India and USA
India and Russia
USA and Japan

Which of the following statements is
incorrect with regard to the passage ?

(a)

India’s increasing ties with USA
has been welcomed by China.

(b) There have been enough tensions
between the countries of India

and China lately.
(c)

India’s military aspirations have
been affecting China’s stand on

India.

Leaders of the countries — India
and China — might reassess their
policies.

(d)

10. What does the phrase “drawing

blood” in paragraph 1 refer to ?

(a) To perform
someone

an 1incision on

(b)
(C)

To make someone very angry
To attack each other

Ta mateh 11n tao each other in

S H MVWIABSXATPOLIRY- CHN/NALES,
sentences with one word missing. Choose the
correct alternative from the options that
follow :

11. You can do litigation cases but you
also have to do the corporate
(a) one
(b) too
(c) ones
(d) those
12. Don’t entrust me these many
responsibilities.
(a) by
(b) with
(¢) in
(d) for

Question numbers 13 and 14 have a word
each in bold followed by four choices. In each
question, find out which of the choices is
SIMILAR or CLOSEST in meaning to the
word in bold :

13. ABOLITION
(a)
(b)
(c)

(d) Inaction

Fixation
Extermination
Instigation

14. CRAVE
(a)
(b)
(c)

(d)

Question number 15 has a word in bold
followed by four choices. In the question,

find out which of the choices is similar or
closest in OPPOSITE to the word in bold.

Disdain
Desire
Collapse
Serious

15. PLEBEIAN
(a)

(b)

(~)

Commoner
Humble

Praminant
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fqa3™ HIe "< J7
(a)
(b)
(c)
(d)

Jealousy

Zealotry
Famished
Gecko

17. ‘Ga’ = fensdt féar ot 37
(a) 3T

(b) 29

(c)

(d)

v}

CEE]
Tadt

“nig T WI” Ho=Y I F= JI?
(a) 29 HIaT

(b) <= SIES

(¢c) JH &S SIS

(d) iy & gHat T &t

18.

Jo foftmit feg” fags Foe A 37
(a) FUHM3
(b) HYHMS
() FUHM3
(d) FAYHMS

19.

“HA®” Hae < fegut Ag< J :

[

ESEES

20.
(a)

(b) HIHT

It

B e
YRZ 3.21-24 € 839 176 |

st e WSt feg weer 7 foor 91 fam
39T A AJIT § SEIAS 3 33T JuT BT
daft yI'x 3 =9fm < Fg93 It I, BR
3g¢ AS HefAx fAgs & 3TgRst sEt
gainft 3 fit yFsa ugs & 9993 J
T HIUdH, JUHel, 3ud, J<f 3 fefammat
AT Ufgegx Hadt & wid-Hd 3fde I& |
AT J 3 fan & vAS 3 83 3 AU & Faw
J| fAg §fux darst I, 88 nrafax Sardt
3 €9 &dt I AAET | MIfE STl €9 96
e g nflSt T J& Agdt 91 37-399
g4t I A= € a2 &< % &3 & ITHST
et 853t © TIeW ¥®er I TH € 7St
Eeds AH 3 TR § AY3 fHoss ®as 3
fggsr €t Uz T I GAg AWt I A3 F9et
JI YRS & It IIHS I, HEY TIF I
IR 3 UyJd famim I 7 HefAx 3egrAst 3
ifox Yug § €97 da & 99 w9, I9

fUz-Afos 3 Fa®-awa <9 <dmr

fegadrt & J& wifsnis 7gdt I
21. fiordt yrsst ugs 5% o grfeer 37
I. A9 3egns Ifder JI
II. WofAx fAU3 atx Ifdet T
II. Sfox yug Suer J|
IV. FAI9x 3TIA3T Bt Tt & aH
Foert I |
(a) II M3 III
(b) I w3 101
III 3 IV
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23.

24.

25.

AJT BT HIK TS |
II. 99 &y 75|
III. AJ9 fea/ Je J|
IV. %waﬂ fesH Jer |
(a) II M3 III
(b) III WB v
(¢ IIM3 IV
(d IM3II

A8 © AF I €8dr § YRS GATY
M I fae AfUs 9ot I&7

(a) #H 3 UsSH 9 femtt T5|

(b) TSt § We IIEmlt TS|

€ YASE U forer a3-5aH®
g9 AYE BdT 7T J |

HH 3 Tl & THoe3s w3 fogsr

@ ¥ %
ot uE féahnit 75 |

HofAx fHa3 & STgrst 3 of 3= 37

(a) feHmar T dhdher 3° 3fo3 Ja|

(b) fefemmsar 3 @9 AY © T9dt
arall

(¢) ddt ISt feg femem Juz
UG-y I35 |

(d) TEredt 3 Afe™ & 3 |

Js g maet 9 89 fagz AgT I&
faet <9 g »a3g @n &I J|

I. J9gar

II. SH3

II1.

IV. U3
(a) L II Il w3 IV
(b) L I3 III

(c) IIWI%IV

(BES G0/ PhY- BRSSP RRFR S GBI Ge S

27.

28.

29.

30.

Haet € »ieE f&x gv 3 8% I7
(a) I9 - fHarg
(b) THT - HES
(¢c) TSt - ARt
(d)

(a) fHoE
(b) HfIHT
(c) H&

(d)
JAtst 3T @9 ‘HHE Hae © »idg J:
(a)
(b) 3 T HGT

(c) HIT =T FgT
(d) fogs = g97

eI

"9 8T ugEt 3t uA I A |
BuUIas T T T F93T U J?
(a)
(b) I IS

0 sfeus T

(d 333 I3 I

SI3HS %

Jo fou nE § YT &9 ¢

»Jd & Halo, 83 feg
(a) Haest

(b) =I

(c) SHEH

------------

NN
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32.

33.

Lg]PSC I?:.)
oW 0
messages constitute

(a)
(b)
(c)
(d)

Vertical communication
Horizontal communication
Diagonal communication

None of the above

A game played by five students, in
their spare time, is to design quirky
stories, which they narrate to one
another in the form of Chinese
whispers. The challenge for the
members in the group is to reproduce
the story completely. However, rarely
are they able to achieve the target.
The reason for their failure is

indulgence in

(a)

Empathetic listening instead of

projective

(b) Sensitive listening instead of
active

(¢) Marginal listening instead of
active

None of the above

(d)

Malini was studying body sport for an
understanding of her seemingly
defensive boss. She began observing
people. She found that defensiveness
can be read by

(a)

Crossing the hands across the
chest

A frown on the brow

(b)
(c)

A combination of expressions on
the face, hand gestures and body

postures

(as peyvwiasexampodalcom/naies

32.

33.

TIm § ot Ifde IS ¢
(a) TISIES ELSH
communication)
J9He®  HAYT
communication)
EYRSEIrT) EEIS)
communication)

Sudas &9 aet & &t

(vertical

(b)

(horizontal

(c) (diagonal

(d)

feg facasht Ioet uzgs T o3
ust At I1 feg qoeht 8o fex o
?5 d5 feg AE8T TS (in Chinese
whispers) | Wﬁﬁw&ﬁﬁ%ﬁ
89 FaEt § Yt 39 €s fds goae|
87 f&g 993 We a9 uB<T Js| B
o nACE®H3T T AIE ot J
(a) yadfes & gA®  gHeder
(Empathetic) 5% HSAT

(b) fafIrm ®  (Active) < TAE
AST6HI®3T  (Sensitive) 3%
AS&T

(¢c) TSI (Active) T IATE HIHS
(Marginal) HS&T

@ Budxs T o<t <t adt

(defensive attitude) IYE &% IH Tht
g J9a3T &7 niftmis &9 Idt A
GFd A3 &'  T9T HY A3 BF &
Bfgn fx I SHS SRR
(defensiveness) & Ufgn™ AT AT J |
(a) E3T © across 987 §° IIH (cross)
95 I

gaefentt &% Wt Tezr I

fggog € 3=, Jg € A3 M3
AJI9x Hegde! @ ARS 3

(b)
(c)
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35.

36.

37.

communication
circuitous.” In this context, the word

‘circuitous’ means

(a) Begins and ends on the sender
(b) Circumstantial demands

(c) Message and import of message

(d) None of the above

is the idea

transmitted by the sender.

Message

(a) Raw

(b) Structured

(c) Encoded

(d) None of the above

Semantic problem relates to

(a) Behaviour of sender

(b) Meaning associated with words
(c) Intention of the speaker

(d) None of the above

If you wish to get “aye” from people
within the organization, to sway their

thinking, the best strategy is to
(a) Provide reason and logic
(b) Fool their emotions

(¢c) Show power

(S ~ PV IASRYAMRaker M NoiRs,

35.

36.

317.

communication path is circuitous) &R
9 FgT ‘WI™¥e’ (circuitous) ©T off
H3®T J 7

(a) feg H&TT 37 @& 3 HY ¥ €A
89 It usH Jer I

(b) &g T3t Qug foggg T

(¢) e A3 e HoE Qua T

d) Budas feg" et & &t

Aa3 ffx 3AT % (sender) %
yATfa3 3T famm S99 (idea)
J |

(a) g (Raw)

(b) fedt=s (Structured)

(¢) fE3f53 (Encoded)

d) GuIas fed et & &t

):(i:']'?*r?,'si (Semantic) AHTT fam &%
HYUS J ?

(a) WO AT T ¢ I

(b) HIE 3% g3 H3SY

(¢c) ¥%s T = fogear
@ Budaz feg agt & &t

ﬁ.g.):ﬂ_v ]ml_é. F’FI'HTO %WH . g:cca.i.”
(aye) XI9GS TIC T 3T IIS Bt

gust &t AU § Teee BT A 3 U
IzaI5T o T 2
(a) BT § 3I9q n3 FTIe fek

(reason and logic)

(b) Bust § FTEIHI 39 I HIAM
T8

() st 333 fegs
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each of the questions below are given two
statements followed by four conclusions I, II,
III and IV. You have to take the two given
statements to be true even if they seem to be
at variance from commonly known facts.
Read all the conclusions and then decide
which of the given conclusions logically
follows from the two given statements,
disregarding the commonly known facts.

38. Statements :
Some officers are aspirants.
All aspirants are girls.

Conclusions :
I.  All officers are boys.
II. Some boys are officers.
ITI. Some boys are aspirants.
IV. All aspirants are officers.
(a) Only I follows
(b) Only I, IT and III follow
(c) All follow
(d) None follows
39. Statements:
All globes are moons.
All moons are boxes.
Conclusions :
I.  All moons are globes.
II. All globes are boxes.
ITI. All boxes are moons.
IV. Some boxes are globes.

(a)
(b)

Only I and III follow

None follows

All follow

(AL WML 1gSEXanportal comynoles,

I& 3T € wigl g9 He I3, I 11, I %3
IV | 37! €& f&5Int ReSHer 3 Ha AHsE
T T BT w wEerdl @@ 387 3 537 gTer
g gE | T HS uga BT 3m &9 for
&30t GIEin 837 HECHEH & 39 375 &t
fHer [Barser I |

38. HICHC :
IS nigHd BHtee g I51
Ad BHteeg aFt 75 |
f}‘?‘?:
I. AJ MEAT H3 TS|
II. IS HS MEAT T |
III. H3 Sieeg T |
IV. A9 SHleea nigAd I6
(a) fASS I
(b) RIS I, 11 »3 III
(¢) AT AIT I&
(d) I &t
39. megHE :
Y I%Y 9€ I5|
AJ 9€ 39 I& |
He :
I. AJ I¢ %9 I5|
II. A9 IBg 39 I |
III. A 39 O J6
IV. I3 39 a5 36|
(a) TAIE I w3 III
(b) I T &t
(¢c) 7 A I
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question given below is given a statement
followed by two courses of action numbered I
and II. A course of action is a step or
administrative decision to be taken for
improvement, follow-up or further action in
regard to the problem, policy, etc. On the
basis of the information given in the
statement, you have to assume everything in
the statement to be true, then decide which of
the suggested courses of action logically
follow(s) for pursuing.

40. Statements :
The Meteorological Department has
issued a notification forecasting less
rainfall during next year’s monsoon.

Courses of Action :

I. The farmers should be advised to
be ready for the eventuality.
II. The government should make

arrangement to provide water to
affected areas.

Only I follows

Only II follows
Neither I nor II follows
Both I and II follow

(a)
(b)
(c)
(d)

41. In a certain code language ‘how many
goals scored’ is written as 6 3 9 7’;
‘many more matches’ is written as
‘9 8 2’; and ‘he scored five’ is written as
‘1 6 3. How is ‘goals’ written in that

code language ?
(a) 5

(b) 7

(¢) 5or7

AL 1 2SEAmPOaLsaminates..
g T 37 St argeSing et aistert
T (Tl I w3 1), 7 I wivar ast &
T J& 77 [§9391 I/ AeSH<E feu a3t arst
TETT € maT 3, FECHS 3 HIl HaST I
w3 29 IIa 5B gHST I Ia dI3T argeret

137 7St get I

40. FIcH< :
FrH fesar 3 &ctfeams a9d nidis!
HeHs feg ue Ty J= =F gfey ot
=St T

JGeE

I farAst § fon 39T & AT w2t
fonrg 9fTE & Fog S It
T

II. HIST B Ygries fesfomi § urst
T T YHU S9aT It I

(a) fAIg I

(b) fHIE II

(¢) In3 1l feg aet <t &dt

d) ImM3IEs

feqd o3 A fe¥ ‘how many goals
scored’ ¥ 639 7 f&ftor famr, ‘many
5 98 2 M3 ‘he scored

41.

more matches

five’ :‘163’ fS'FTS(S’f?G ‘goals’ &
fae fsfmr famr T 2

(a) 5

(b) 7

(0 5H7

&) Download FREE UPSC E-BOOKS &



https://iasexamportal.com/ebook
https://iasexamportal.com/study-kit

421 RING STy NQie

43.

44.

45.

southwards, turned right and walked
2 km and turned right and walked
5 km and turned left and walked
5 km. How many kms will she have to
walk to reach her home straight ?

(a) 5
(b) 7
(o 17
(d 15

From a box of 20 balls, 8 balls are to
be chosen. In how many ways can this
be done ?

(@) 20C,
(b) 20!
() 2P,
(d) 8!

How many times are the hands of a
clock perpendicular in a day ?

(a) 24
(b) 22
(c) 44
(d) 48

Four bells ring at an interval of 4, 6, 8
and 4 seconds. They start ringing
simultaneously at 12:00 o’clock. At
what time will they again ring
simultaneously ?

(a) 12 hrs 2 min 48 sec
(b) 12 hrs 3 min
(¢) 12 hrs 3 min 20 sec

3 QkedP5 Gl

43.

44.

45.

(AYBS RIS HRL FOARIRS;

39T, AR Ht »i3 2 fowHtes 34T, feg
A H3T »i3 5 fasteg 34t, feg ¥
H3T »i3 5 fawHteg 3911 feg Go fidt
fas famtes 394t 3fa »mus w9
ERERICY

(a) b

(b) 7

(c) 20P8

(d) 8!

(perpendicular) SEETMT I&?
(a) 24

(b) 22

(c) 44

(d) 48

I79 WIS 4, 6, 8 n3 4 AfdsT T T3
ge At Is1  feg  feedt
12:00 I It gg Jeatl feg
gt

(a) 12 hrs 2 min 48 sec

(b) 12 hrs 3 min

(¢) 12 hrs 3 min 20 sec
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47.

48.

apartment complex. One of them is a
lawyer, one is a doctor, and the third
one is a businessman. Aman and Chris
play cards together every Sunday,
while Bimal and Chris live next to
each other and are good friends. The
lawyer and businessman don’t know
each other. Among the three, Bimal is
the only one who did not study after
class X. Which of the following must
be false ?

(a)
(b)
(c)
(d)

Aman knows Bimal
Bimal is the businessman
Aman is the lawyer

Chris is the doctor

A shop has some amount of rice.
Raman buys half of the rice in the
store, plus 1 kg. Nazneen then buys
half of the remaining quantity of rice,
plus 2 kgs. Amar then buys half of the
remaining rice, plus 3 kgs. After this,
only 2 kgs of rice are left in the store.
How much rice did Raman buy ?

(a) 24 kgs
(b) 26 kgs
(¢) 50kgs
(d) 52kgs

Which of the following does not belong
to the group ?

(a) ACEG
(b) GIKM
(¢c) PRSU

47.

48.

(S W RBREXADOTIAL CoMpnotes

YMUTIEHE QUSSH feg Ifde T8
fa) « N S N [a) lal
[Edol Ied & <M, I 3'dcd 7)‘@'

3T Ut I viHE wis JfgR e

JJ ni3<d IH u3T Ial faHs ni3
IR feq T © ISl Is W3 UM

A3 5| gaﬂ?zm%aﬁf‘rfeagﬁ?j
st A | f3st fog fovs fedtw T 7
TAST 3 niar adt ufgnr) Jo fesfmrt
fog" o &t I T 32

(a)
(b)
(c)

(d)

s faHs § Aee 9
favs sutst I
MHE TS J
FfIH 3oeT J

ffg Tas 9 a5 W39 9 o<
IS5 IHS & ACI © O<% = g aHt
¥y fa® 9<% ydte| &aHsle & gt
Ifg IT st T nig aHt € fa% <%
yIte | MHI & It J9fd dI8 g% of
g AHT 35 fa® o< ydte| &R 3
I¢ o<® ¢ % g% 96 <9 g9
IHG & foid fa® g% ydite?

(a) 24 fa®

(b) 26 fa&

(¢) 50 fa&

@ 52 fa®

o=

e

PSErY
J?
(a)
(b)
(c)

fqd3T U &% IBTT I

ACEG
GIKM
PRSU
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50.

51.

morning is always cloudy. The

morning today is cloudy. Then
(a)
(b)
(¢) It will rain tonight.
(d)

It must have rained last night.

It may have rained last night.

It will not rain tonight.

Whichever book Mr. A reads, Mr. B
also reads that book. Whichever book
Mr. B reads, Mrs. C also reads that
book. Which of the following must be
true ?

(a) Mr. B has not read the Shiva
trilogy. So Mrs. C could not have
read it.

(b) Mr. B has read the Harry Potter
series. So Mr. A must have read

it.

(¢ Mrs. C has not read the
autobiography of Mahatma
Gandhi. Mr. A could not have

read it either.

Mrs. C has read all the books
written by Paulo Coelho. Mr. A
must have read all of those as

(d)

well.

In a language, WATCH is spelt as
WBSCI. Then CLOCK is spelt as

(a) CKPCJ
(b) CKNCJ
(¢) CMNCL

50.

51.

AP 0L SRR IR ILO ROl

I It deweer Jef I onfF AR

Jewaet I A

(a) &% I3 FgHt It Ifgm It
4t |

(b) & I3 IfIH I T AT J|

(¢) WiF I3 grfgry J<ait|

(d) Wi I3 g7fd7 adT J4i |

7 & fa3g Mr. A U3 IS5, Mr. B &F
uge 951 A & fazg Mr. B U3¢ TS,
Mrs. C & Uge T&| Jo feftmrt feg
S BT It AT g=Ram?

(a) Mr. B & Shiva trilogy &J U3t
JI B Mrs. C & & &0t ugt d
AT |

(b) Mr. B & Harry Potter series UZT
JIR Mr. A3 & feg smft Ut
I JI

(¢0 Mrs. C & Mahatma Gandhi ©f

nregfelaaer &sdt ust I R

Mr. A3 & & uFt I AT |

Mrs. C & Paulo Coelho ¥t

Aaft fagmat Ut 951 Mr. A

& & feg Adhoit st uShtt

JEdinft |

(d)

fea s feg WATCH § WBSCI

f@femr AT I1 CLOCK & fa= fsftmr
T | )

(a) CKPCJ

(b) CKNCJ

(¢c) CMNCL
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Directions (Questions no. 52 — 54) : In a

pictorial language, “I only want peace” is

written as “C [ e A”, “you don’t want peace”
is written as “D /1 e »” and “I don’t like you”

is written as “C 2D u oo”.

Answer 52 - 54 on the basis of the

above information.

52. What is the symbol for the word
“like” ?

(a) €
(b) 2
() »n

(d)

oo

53. What is the symbol for the word

“you” ?
(a) €
() 3
(o A
(d)

Cannot be determined uniquely

from the given information

54. What is the symbol for the word

‘want” ?
(a) €
(b) o
(o A
(d)

Cannot be determined uniquely

tal.com/notes

(A WWW., la,sexam ort
I%@F’ 7 R:o( Ho3X 3TH

-54) :
IECHMI only want peace” § “C e A” fsftmrt
7w JI “you don’t want peace” 5]
“D /1 e w ffemtt AT I w3 “I don't like
3 “C D n oo fEftmit FlET I

you”

Budas I woes Js feitmit Aemt
52 - 54 ¢ A< fe€|

52. “Like” FOT & fI03™ A3 (symbol)

J?

(a) €
(b) 2
() «

(d)

53. “You” HI€ &g 03T HA3 (symbol)

7

(a) €
(b) 3
(o A

(d) fE3t gt & wigg 3 SfFnr
ST AT Aa=T

54. “Want” 7T &t fad3™ A3 (symbol)

J?

(a) €
(b) e
(o A

(d) &3t et € miug I S
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(a) YREGEA

(b) YRFHE

(c) YREGE

(d) YRDEFA
Directions (Questions no. 56 — 59) : A
classroom has 4 benches. Each one can seat
two students. Assume that the benches are
numbered 1 to 4 from front to back. Eight
students, A, B, C, D, E, F, G and H are
sitting on the benches, not necessarily in
that order. Following are known:

I. A and G have a gap of two benches
between them, so do B and H.

II. C and E are not sitting on the same
bench.

ITII. D is sitting in front of F, and F is
sitting in front of G.

Answer 56 -59 on the basis of the
above information.

The individual questions may have more
information, which are applicable only for
the respective questions.

56. Which of the following cannot be

true ?

(a) A and H are sitting together
(b)
(c)
(d)

Which of the following must be true ?
(a) G and H are sitting together

(b) E is not sitting on the last bench
(¢) His not sitting on the first bench
(d) F is not sitting on the third bench

Which of the following cannot be a
possible sitting order from front to
back ?

(a) ADFG
(b) ADFB

C and F are sitting together
B and C are sitting together
D and E are sitting together

57.

58.

(HES pHYW.Igpgxam EQ@ﬁkcom,;notes

(a) YREGEA

(b) YRFHE

(¢) YREGE

(d) YRDEFA
159CH (YFE 3.56 - 59) : fEa a&w I <9
4 ¥9 751 99 ¥ 9 SQug © fefourast
¥ T He ®@ 99T @ 899 1 3 4 3 I6
HJIJ 3 U2 <% | nis fefenrget A, B, C, D,
EHI,F,Gm%H(H_g]EOF?Eﬂ"fEﬁ order fe9)
fegst Gug ¥8 T51 Jo fedinft et ATG usT
I

. An3 G fegw © 89 @ e JI
Bn3 Hfeo® & € 997 @7 @A J|

II. C»3 Efed 39 §ua ot 83 Ia |

IIL. E%@%D%%»@G%@%F%
JI

Buda3 I wiOa3 Is Y AT 56 - 59 @
ey fe€|

I3 AT feg g3 J9 AEddt < I AaEl J
ud BT ae® A A &g fest ot 9 €r

ua It &g It
56. Jo f&ftmit f&9° o At 807 T AXE™?
An3 HfEdd 38 I8
(¢) Bw»3 Cfedd 83 I8
57. Jo foftmit feg' ot &aHt mo7 d=r
grdteT I7
(b) E nmydt 89 8ug adt 87 I
() HUfg® §9 Gug & g&7 I
HJ9 3 fig <% Foz < 393 &t I
foftmit feg’ faa3t Hs=ar (possibility)
(a) ADFG
(b) ADFB

58.

(¢) AFER

C i3 F fEsd 98 76
(d) D w3 E f£ds 83 I5
(a) G 3 HfEds 33 I8
(@ F3H 99 8ud adt go7 I
&I J AaEr I?
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it is further known that B is sitting on
the last bench, then which of the

following pairs must be sitting
together ?

(a) Aand G

(b) CandD

(0 Aand H

(d CandE

Directions (Questions no. 60 — 63) : Four
people, A, B, C and D, are suspects in a
murder case, where exactly one of them is
the The

murdered by a knife during a stormy night

murderer. victim has been
at her residence in a small town. All four of
the suspects made two statements each. It
of them,

statement is correct and one statement is

is known that for each one

wrong, although, at the outset, it is not

known which one is correct and which one is
wrong.
A: 1. 1 have never touched a knife in my
life.
II. I was not in town on the night of
the murder.
B: I. Aisthe murderer.
II. T was playing cards with C the
entire night of the murder.
C: I. I was sleeping on the night of the
murder.
II. B is innocent.

C is innocent.

(RS ULy IRPATAGI Q- co/Rales

i 7w I & B nmudt 9 Sug
g7 J, 29 Jo fsfmit feg

feg fagg A=
fedlar gt J&T Irdter I?

(a) AM3 G

(b)
(c)
(d)

Cm3 D
A3 H

Cn3 E

15987 (YHAS 3. 60 - 63) : TF eHt A, B,
C w3 D f&x a3% A feg Aot a1 feast
feg fea var & a3 J1 W=3 § 394
feg ¢ HId Hignm famm J1 99 Hat
et & € fanrs 831 fegst @& €3
e fast feg fea fanms He w3 f& 3o

fagsT famrs FeT I »i3 faosT 5071
A 1. W fifedt g a@ & 9@ § J®
&It wrfenr |
II. ¥ 335 < I3 fer 7fag <9 It
&It A
B: I AT3%JI
II. ¥ J3% % AGt 93 C &% 3IH
3 faar A
C: I W 3% % I3 R faor A
II. B feaer T
D: I C fager I
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information.

60. In case of how many suspects, their

correct statement(s) cannot Dbe
identified from the given information ?

(a)
(b)
(c)
(d)

0
1
2
3

61. Which of the following statements

must be incorrect ?

(a) A has never touched a knife in his
life.

(b)

A was not in town on the night of

the murder.

(c) B was playing cards with C the

entire night of the murder.

(d) C was sleeping on the night of the

murder.

62. For which suspect(s), must their

respective second statements be true ?
(a)
(b) C only

(c) Band Conly
(d) A, BandC only

D only

63. Who is the murderer ?
(a) A
(b) B

(0 C

(S0 apexapportal Comnales:

60 - 63T TeY e

60. foa Hot dfent @ o feg Quds
gt € wiud I € &% BdT
e 7 Aaer fa Gust ©r fagsT
s He J9
(a)
(b)
(c)
(d)

0
1
2
3

61. fagz fomrs st I 55 37

(a) A3 fedlt feg 3¢ 9% ¢ I
&1 Bren |
A F3® TH I3 fen Afog feg oF
&I A
B 3% % Adt 93 C &% 30
g faar A

C I3% %t 93 7 faar At

(b)
(c)

(d)

62. faas Ha = gar fanrs smHr dt
Hog J7
(a)
(b)
(c)
(d)

(c)
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64. The question given below consists of a

65.

pair of words which have a certain
relationship to each other, followed by
four pairs of words. Select the pair
which has the closest relationship as
that of the words given in the

question.

Train : Diesel

(a) Car: Wheel

(b)

Boiler : Steam
(c) Bicycle : Pedal

(d) Rocket : Propellant

In his will, Rushveer Singh distributed
all his money among his 3 children.
The eldest one got Rupees 2 lakh more
than 50% of the total money, while the
younger one got Rupees 3 lakh less
than 25% of the total money. The
remaining money went to the middle
child, who bought a house with 50% of
the money he got, and was left with
Rupees 6 lakh less than what the
youngest one got. How much money

did the youngest one get ?
(a) T 121lakh

(b)
(¢) T 161lakh

T 14 lakh

(@ams - www.iasexampartal.com/notes

64. Jo

65.

H<™® I<d HI< dc 13T
famr I B8R &% 979 d9 FIT de fe3

e g5 frist o' €9 Aue-de ve fam

T muel T yAe feg Ug A9T de 5%
AS 3 33% famsT I?
Train : Diesel

(a) Car: Wheel

(b)

Boiler : Steam
(c) Bicycle : Pedal

(d) Rocket : Propellant

JA<9 fAw & wiusT AT UAT muE
B dfoni g fsnm A3 3 & 3§
% U & 50% 3 € &y gufenm 2
fifenr AR I A 3 2 § 3% UR ©
25% 3 35 By ue fHfenm gt
gfgnm A feors @@ w9 g fufenr
fm & i U7 © 50% 3% wd Yie
fom w3 BF 3 gmie G 3% A
2¢ 3 i 3T UA 3 6 By qufemr uie
Ifg famr| A8 3 22 3 6 UA fi® 2
(a)
(b)

() T163Y

T 12 %Y

T 14 HY

AN = 10 TOr
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If 201919 is d1v1¥1ed by 19, then what is 6. 28%\6”@&1 g 05%%9 Hl/rc@( %3%

the remainder ? g J7?
(a) 2 (a) 2
(b) 3 (b) 3
() 5 () 5
d 7 d 7

67. © ufee Mat (positive integers) =T
3 200 I »3 feat & nisu3 (Ratio)
7:3 31 fegt ¥ A8 3 I3 AT
Ste¥H9 (greatest common divisor) ot

67. The sum of two positive integers is
200, and their ratio is 7 : 3. What is

their greatest common divisor ?

(a) 10 J?

(b) 20 (a) 10

(© 30 (b) 20

@ 40 (© 30
d) 40

68. In a class of 50 students, the average

68. 50 fefonrgeht & A3 &9, fox
tftmr feg 713 € niA3 »id 48 T35 |
fefenragt © 67 ©F g€ T3 %
37 nig ®ar &3 a® FAs m3 f&x
fefenrgegt © 73 & @ T®3T %
37 i BIr &3 T A | f&g a&3or
TIAS &Id I= AW © fer it

marks in an examination was 48.
However, after scrutiny, it was found
that one student who scored 67 was
awarded 37 by mistake, and another
student who scored 73, was also
awarded 37 by mistake. What should
have been the actual average marks in

that examination ?

feg WAz g 48 gse I8°
(a) 51.60

(a) 51.60
(b) 49.32 (b) 49.32
(c) 50.66 (¢) 50.66

&) Download FREE UPSC E-BOOKS &



https://iasexamportal.com/ebook
https://iasexamportal.com/study-kit

D s N b B O A e T e I R RO A SRR,
of a college during 2015 — 17 in different sectors :
COLLEGE PLACEMENT DETAILS

45% W2017 E2016 [E]2015

40% 39%
35% 34%
30% )
95% 23%  24%25%
20% 16%
15% 12%

10% R
5%
0%

20%

Systems/IT General Operations/ Marketing/Sales Consulting Others
Management  Supply chain

For every sector, the three graphs represent the percentage of total students of the college
placed in that sector over the three years. It may also be noted that the college had
800 students placed in 2015 and 1000 students placed in 2016, whereas a total of 1200
students were placed in 2017.

1598H (YAS 3. 69 - 72) : I5 1737 GIT7e [Eor &&H &1 2015 - 17 35 & T4 AT @
TET yBHHE T 9T TIAT [TT7 T

BT UBARE T 99
A5% 2017 E2016 [E]2015

HAC H./.I.'i'

J9 Adcd © wet 36 a9, %A © J&% fefonrggnt &t yStH33T 7 €7 Adeg feu f3&
At € T9e feg a9t & I® TIs, § T I TS| IHA R A® 2015 R IS
800 fefenragt dadt & I1& I& (UBH T I I&) M3 2016 &9 1000 fefenraat adt & a2
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the above information. 69 - 72 ¥ €39 fe6|

69. Considering the total over the three | 69. fS&7 A& = & fHow, A HaeS

years, in which sector were the feg A8 3 uc fa=st fefonragnt &
minimum number of students from the ST ®=0
college placed ?

(a) YIUIHS/AUSE! 96

(a) Operations/Supply Chain (Operations/Supply chain)

(b) Marketing/Sales (b) HIACA/ABT (Marketing/Sales)
(c) Consulting (c) JBHABIE (Consulting)
(d) Others

(d) weEJdg (&) (Others)

70. Considering  all ~ three  years, | 70, 357 A& & fH®A, 75I% HEAHZ
approximately what percentage of -

0o

(general management) Adeg feg faa

students were placed in the General UFHZ  (approximately)  fefonmget
Management Sector ? H:WEICT N PP Y
(a) 19 &) 19
a
(b) 21 b 21
(c) 24 © 24
(d) 26 @ 26
71. For how many sectors did the actual | 71, f3% Rgegt feg 2015 I 2017 IS WMAS
number of placements increase from g 2ot 5 T=o% fefowrgehr ot
(a) 5 @ 5
(b) 2 ®) 2
() 3 © 3
d 4 d 4
72. Considering all three years, what was | 72. f3&t A® § I& & HIAEI/AST
the total number of students placed in (marketing/s;lles) &g &gdt & 7= %
Marketing/Sales ? fefanmaenr ot e farest fiat 37
(a) 424 (a) 4924
(b) 524 b) 524
400

(c) 400
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Notes f
ons no.

9% P75 B

Following pie-chart gives the number of
women in different categories who had
babies in a government hospital in a city last

year :

Age-wise number of women
who had babies

20-24
25-29

30 — 34
35 —40

= |

Answer Questions no. 73 — 76 based on

the above information.

73.

74.

What is the percentage of women aged
between 25 — 34 ?

(a) 15

(b) 35

(¢) 50

(d 80

In the group of women aged 25 — 34,
25% were from the age group 27 — 29.
What is the number of women aged
27 years or above who had babies in
that hospital last year ?

(a) 550
(b) 200
(¢c) 425

(AR WWIASaXaginofil. COMYROtas,
S-S [T BT~ 14BT] ST oA AT
st 3 RE3 mE e Flgg € HITd
gImEt et I/

gt wigst & farsst frgt @ 99 A
CLERCGLIS))
] 20-24
B 25-29
30— 34
B 35-40

Budaz AEaEt 3 mu9s J5 TR yEe'
73 - 76 ® €39 fe€|

73. 25 — 34 A% BHg T fog® It nigst
IEQRIEIERLYS
(a) 15
(b) 35
(¢) 50
(d 80

25 — 34 A% 3X & GHI dnit wigst
feg, 25% nids3t 27 — 29 A® 3X <
BHg It I&1 27 A® A feR 3 2O
8Hg Tt wigst &t fasst &8 figt &
fer TS feg fue® A® dfonf §
7&H f&3m?
(a) 550
(b) 200

74.

R
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76.

In the group of women aged 30 - 34,

60% were aged 30. Among all women
who had babies in that hospital last
year, what percentage was aged 31 or

above ?

(a) 11

(b) 14

(¢) 20

(d) 13.5

Among the women who gave birth in
that hospital last year, the percentage
of women who had their first child

was :

80% for age group 20 — 24,
60% for age group 25 — 29,
30% for age group 30 — 34, and
2% for age group 35 — 40.

In the whole cohort, what percentage
of women had their first child ?

(a) 43

(b) 52.9

(¢) 61.6

(ams - www.iasexamportal.com/notes
75. 30 - 34 A% 3& et

76.

1 GEY 60%

g3t & BHT 30 A® J| fER TAUS®
TE nigst fegt {48 y3ms & 8ue
31 A% A fer 3 g A?

(a) 11

(b) 14

(¢c) 20

(d 13.5

20 - 24 A% 3% © BHI dqU Thor
80%
25 — 29 A% 3X © BQHI ddu Thnft
60%

30 - 34 A® 3 © BHT dgu It
30%

35 - 40 A% 3 © BHI IdU Tt 2%

YStHz nigst e ufow 97 At?

(a) 43

(b) 52.9

(c) 61.6

7 AN N O
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following bar diagram displays the number
of workers employed in a manufacturing
On all

the permanent workers work

company for the last 6 years.
workdays,
10 hours while the temporary workers work
6 hours. One year has 300 workdays. Annual
workhours for a person for a year is defined
as the total number of hours of work put in
by that person that year. Similarly, the
annual workhours for a workforce, e.g., all
workers, is the total number of hours of work
put in together by all people in the workforce
that year.
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Answer Questions no. 77 - 80 based on

the above information.

77. Which year did the company employ

the minimum number of temporary
employees ?

(a) 2013
(b)

(c)

2014

2016

(OB sV VAASEXamnqpgl. Cor%no'}%?
TI-F1ETTH  (bar diagram),

Hpeagldar &usl ffT 1Ued 6 % 3 &1 &9
I st e AgF TIAT I JI TT FH
5 TH [@5, da M (permanent
employees) 10 U &M JIE I& W3 dd TH
(temporary employees) 6 UZ JH e IS/
fFar 7% e & Jds @B 300 fes Ie I/
TJT e 4d aH BET THET TTaHTIH
(annual workhours) € YI5THT Jfer 67 3
Hlan® Sihm B F&3T Zdamedd &

WIBT T I g wWe Honrt it
(workforce) 3 TB & EF H'&% €T &H 137/
SH T IJ ITHAT BT 399
800
700 |
600 [ ]
500 |
400
300
200
100
0 2013 2014 2015 2016 2017 2018
mJd Od9

Budsz AEaEt 3 mugs J5 R yEe'
77 - 80 © €37 feb|

77. fom 7w feg Sust 3 A8 3 uie fasst
9 IH (temporary employees) IH?

(a) 2013

(b) 2014

(¢) 2016
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78. Which year di

79.

80.

the company employ
the minimum percentage of temporary
employees ?

(a) 2013
(b) 2014
(¢c) 2016

(d) 2018

Which year did the

workforce put in the maximum annual

company’s

workhours ?
(a) 2015
(b) 2016
() 2017

(d 2018

Which year did the

permanent workers contribute the

company’s

minimum percentage of the total

annual workhours of the entire

workforce ?
(a) 2013
(b) 2014

() 2015
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78. fom A% fT9 duat & A 3 We ysias

79.

80.

J A™H (temporary employees) I8
(a) 2013
(b) 2014
(¢c) 2016

(d) 2018

far & feg uat & Afantt i
3 A8 I JTU HEE
TIINALIT AH 377

(workforce)

(a) 2015

(b) 2016
(c) 2017

(d) 2018

for 7% fog duadt © U afit
(permanent employees) & B HASHGT
G9 A% 3 We Y3tHS
TIomiedd o fAISS o=t

ERCYIERT

(a) 2013

(b) 2014

(c) 2015
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